- poly
QUICK START

POLY STUDIO X70 DISPLAY MOUNT

 — ——

-

5mm L-Key Hex 4mm L-Key Hex (6) Tie Wrap

&

(6) M6 Lock Washer

© (=

(4) M6 x 12 mm Screw

D

(4) M8 Lock Washer

ORl=

(4) M4 x 8 mm Screw

©

(24) M8 Flat Washer, 1.6 mm thick

©C—= © ([

(4) M6 x 25 mm Screw

(4) M8 x 25 mm Screw

© (

(4) M6 x 50 mm Screw

©

(4) M8 x 50 mm Screw

1:1Scale

E;g www.poly.com/support/studio-x70

© 2022 Poly. All trademarks are the property of their respective
OWners.

1725-87374-001C 04.22

o

Recyclable where
facilities exist

MOUNTING OPTIONS

C__ 0O

é (4) Screws and

for your display

(16) Washers appropriate

(4) M6 Lock Washer

User supplied display mount

(4) Screws and <
(20) Washers
appropriate

for your display

(4) M6 x 12 mm Screw
(4) M6 Lock Washer

?N

VESA MOUNTING OPTIONS

A

Ensure tab is securely
centered in slot.

Optional
(4 M4 x 8 mm

®  —=






